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Datablock EPHEADIP - ellipsoid plot
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Datablock EPHEBESY - ellipsoid plot
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Datablock EPHEEDIS - ellipsoid plot
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Datablock EPHE - ellipsoid plot
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Datablock EPHEGLYC - ellipsoid plot
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Datablock EPHEHCL - ellipsoid plot
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Datablock EPHEHEMI - ellipsoid plot
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Datablock EPHEMALA - ellipsoid plot
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Datablock EPHEMALE - ellipsoid plot
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Datablock EPHEMALO - ellipsoid plot
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Datablock EPHEMESY - ellipsoid plot
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Datablock EPHENITR - ellipsoid plot
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Datablock EPHEPHOS - ellipsoid plot
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Datablock EPHEBISU - ellipsoid plot
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Datablock EPHETART1 - ellipsoid plot
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Datablock EPHETARTS3 - ellipsoid plot

FROBAR= 50

58 Y

(120405)

FLATON-Oct 18 10:18:59 2005

Z -76 EPHETART3 P 1 R =0.10 RES= 0O 82 X




Datablock EPHETOSY - ellipsoid plot
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